Knowledge Organiser

Booklet Year 8 Term 2

Our working memories can only store a limited amount of information, whereas our
long term memories can store limitless information. To learn successfully, we need to
store core knowledge into our long term memories, so we can retrieve it when we

need it.

For instance if you are at work or in the shops and need to work out a 25% discount,
you cant memorise 25% of every number, so you need to be able to quickly recall the
method for calculating a percentage. Committing core knowledge to our long-term
memories is a life-hack. It makes thinking about difficult things easier.

Using a knowledge organiser with regular retrieval activities is a way for you to store
core knowledge & subject specific words, into your long term memory so it is there
when you need it.

Click here to be taken to the

knowledge organiser part of the
school website.
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Clicking on the subjects below will take you directly to the knowledge organisers for
each subject. These are to support learning that has taken place this past term. Use
these to help reinforce the key knowledge. Use some of the strategies explained in
the introduction to help you retain this important information.
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Make sure you have access to a computer at home (If
you don’t please make pastoral staff aware or email
langley.homelearning@taw.org.uk)

Download Microsoft Teams on both your phone and
computer. (If you don’t know how to do this please
ask a member of staff or do this in your next compu-

ting lesson)

Spend at least 2 hours a week using teams EVERY
WEEK. (Engagement in teams can be tracked and
monitored). You need to be accessing each of your
class teams and recapping on the previous learning or
completing additional tasks set by your class teacher.

If you have any issues with teams (e.g. login problems
or missing classes etc then please email lang-
ley.homelearning@taw.org.uk)

Teams is a tool to support ongoing learning and
should only be used for educational purposes.
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Retrieval Placemat

Look at your knowledge organiser. Now cover it up and write down
Key vocabulary & definitons from memory:

First time: Look. Second time: Look. Third time: Look.
Cover. State 3 facts Cover. State 3 facts Cover. State 3 facts

Look at the knowledge organiser again. Now cover it up and
without looking, explain a concept or ideain your own words

Re-read your answer above. Look at the knowledge organiser
again. Now cover it up and improve on your previous explanation in
green pen.



Retrieval Relay

Look at your knowledge organiser. Now cover it up.

First time: Write down Second time; Look. Third time: Look.
everything you can Cover. Write down Cover. Write down
remember everything you can everything you can
remember remember

Write down everything here that you didn't remember:



Vocabulary focus 1

Look at your knowledge organiser. Select a key word and write it

here:
Write a definition of Write a sentence with Create a question
the key word in your the key word in it: where the key word is
own words - not the the answer:

same as the one on
the knowledge
organiser:

What other words are connected to this key word?

Draw a picture or diagram to help you remember this key word:



Vocabulary focus 2

Definition: Characteristics:

Key word:

Examples: Non-examples:



What should my knowledge
organiser homework look like?

Topic clear Homework activity written
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Art



Year 8: Unit 3: Beautiful Bugs

Beautiful Bugs Recording

Threshold Concept (TC19) - Many artists over the years have used the beauty of bugs as inspiration for their artwork.

Threshold Concept (TC20) - Understand that non-traditional (standard) materials, including recycling, can be used to create effective artwork.

Threshold Concept (TC21) - Understand how symmetry, simple geometric shapes and measuring techniques (Maths) can help with accuracy when drawing.
Threshold Concept (TC22) - Understand how to create a range of tonal values with biro.

Threshold Concept (TC23) - Understand that art can be created using mixed media.

Threshold Concept (TC17) - Understand that art does not always have to have a blank background on which to work.

Bronze Formal
... understand what ‘contemporary’ means.
... understand that many artists, including contemporary artists, have used Ele;n:r:ts
bugs as inspiration for their artwork. Coolo:r
... understand how to draw simple geometric shapes to help plan a drawing. Line, ’
Shape,
Form,
Tone,
Texture,
Pattern
Mixed Media.
Colour and An ink
emotions background
is prepared
Featured artist’s Ink background with ballpoint pen first so that
which will drawing inspired by Abby Diamond a bug can be
influence the drawn over the
next stage top in ballpoint
of the project: pen.
HongYi .
Mr Finch Ballpoint
Anna Collette- rfen
Hunt dra.wmg
Abby Diamond techniques
Contemporary means that something is Claudio Garzon
happening now, in the present. Ghidaq al-Nizar

A contemporary artist is someone who
is producing artwork now.



Year 8: Unit 4: Beautiful Bugs

Beautiful Bugs

Threshold Concept (TC24) - Many artists over the years have used clay as a material to produce their artwork.
Threshold Concept (TC25) - Understand that ideas can be developed from primary and/or secondary sources.
Threshold Concept (TC26) - Understand the different stages of clay.

Threshold Concept (TC27) - Understand basic clay techniques.

Bronze
.. understand what ‘ceramic’ means.

.. understand how a contemporary artist has used bugs as inspiration for

their clay works.

.. understand how to draw simple geometric shapes to help plan a design

for a clay bug.

.. understand that clay can be used as a medium for artwork.
.. understand how to make simple shapes using clay.

What is your inspiration?

I am inspired by a curious and eclectic cocktail of influences. | love heritage
houses, museums, historic practises of science and taxidermy. The scenes in my
ceramics always feature taxidermy animals that have come alive at night, and are
strutting mischievouslyaround stately homes!

What is your favourite piece of work to date and why?

I am exceptionally proud of my Stirring the Swarm installation, which features
10,000 ceramic insects each made and glazed at my studio. The Swarm is a
beautiful yet sinister body of work that was first installed at Nottingham castle
earlier on in the year. It has since travelled the country infesting many venues,
delighting and repulsing it’s thousands of visitors.

The six
stages
of clay

Ceramic means that the item is made of clay
and it is permanently hardened by heat.

A primary source is something
that you have first hand
experience of e.g. photographs
you take, something you have
experienced.

A secondary source is something
that someone else produces
e.g. the internet or magazine
photography.

SCAN ME

Clay
Techniques:
Slip, Score
And Blend

Keywords
Slip, Plastic
Leather hard,
Bone dry,
Bisqueware,
Glazeware,

Grayson Perry

Formal Elements of Art

Modelling Colour, Line, Shape

Simple

Shapes Form, Tone, Texture
Pattern



Computing

Read through your knowledge organiser. Next,
cover it up or put it away and try tho write
down as many of the key facts that you can
remember. Use your knowledge organiser to
check the fact you have written down. Correct
any you may have got wrong.



Computing Year 8 Unit:
Media—vector graphics

Threshold concept—

. Understand what a real-world problem is.
. Draw basic vector shapes
. Understand what the purpose of a vector graphic is

Keyword

Definition

Bitmap or Vector image?

Manipulate To change

Path A connecting line between two paths

Node A point that can be changed in a

Vector Mathematically based pictures. Made
up of lines, shapes etc (objects).
Easily scalable (as they are not pixel

Graphic A graphic is an image or visual repre-

sentation of an object. Therefore,
computer graphics are simply images

-

-
-
-

Will the image need to be resized?

Will the image need to be drawn to scale?
Will the image need to be realistic?

Are there any restrictions on file size?




Threshold concept—

COmPUTl ng year. 8 Unl'|'2 . Identify when a problem needs to be broken down
: . Identify when there are issues with code
MObl Ie App DevelopmenT . Use block-based programming to a basic level

DECOMPOSITION PATTERN ABSTRACTION ALCORITHM DEBUCCING

Breaking down a RECOCNITION DESICN )
problem info smaller Looking carefully in lines Filtering out and A plan and step by step Looking through your
chunks. This makes it focusing on what is instructions on how to program to find errors

i i 1 i of code for patterns, . . a
Placmg a set of instructions in an order more manageable and e — important. Ignoring what i (T s T and then fixing them.
easier to understand. is not important.

Sequence

Event An action that occurs as a result of the user ? 2 3 /'] s

GUI A visual way of interacting with a computer
USER INPUT
Programming The process or activity of writing computer Ten buxgs — allowing the user to
programs. input a string.
Decomposition When we break a problem or task down into Checkboxes - allowing for the user

smaller parts to make it easier to tackle to indicate a yes or no response.

Button — linked to an event that will

Abstraction The process of filtering out - ignoring - the capture and process the data when
characteristics of patterns that we don't it is clicked
need in order to concentrate on those that

Algorithmic thinking A way of getting to a solution through the
clear definition of the steps needed CETTEXT
Variables Value that can change, depending on condi- gE;TET. ( I;:L ]tIS E:Ibut"t_,:;:
tions or on information passed to the pro- SUDIOUEINE Hat COUECLS e
gram text entered into a textbox;
Selection Selection is a decision or question. " Is to be replaced with

the name given to the text
box.

+ - * /= = =
Operators R = 0, X




Desigh and Technology

You can make your own questions. This process
takes a lot of time, but if you create a study group
you can each create a few questions and trade.
However it is important that you write what Key
facts or knowledge you expect to see in any
answer.












Drama

Create a flash card with all the key facts you
want to learn (this can be drawn in your
book). On the next page try writing down as
many facts or as much of the knowledge as
you can. If you find you are getting certain
facts wrong then these are where you need
to focus and relearn.



A. Definition B. Characters

A soap opera is a long running drama The characters are the core part of a soap
series, typically shown on television, that opera and most feature around 20 main
focuses on the personal lives and characters! Although all the characters do
relationships of a set of characters. not feature in every episode. The types of
characters found in Soap Operas are based
on stereotypes. These include:
- The Cheery Pub Landlord
- The Criminal / Gangster
- The Nagging Mum
- The Stroppy Teenager

- The Gossip

D. Physical Skills

E. Vocal Skills

Projection

Ensuring your voice is loud
and clear for the audience to
hear.

Volume

How loudly or quietly you
say something. (Shouting,
whispering).

C. Key Conventions

1. Each episode is fairly short (often about 30 minutes long) and 3-4 new episodes
are screened each week. The scenes are short to maintain the audience’s
interest and to build tension.

-2. Each episode often focusses on a few different continuous storylines or narratives
involving a range of the main characters and cross-cuts between each story
throughout the episode. The narratives often deal with real life issues that the

audience can relate to, for example, family problems, or money issues.

-3. Each episode usually begins with a ‘hook’ (a continuation of one of the narratives
explored in the previous episode) and ends with a cliff hanger (a moment of
suspense that isn’t resolved until the next episode). This is an effective way of
ensuring the audience watch the next episode!

-4. All Soaps are usually set in a central area, for example, a street. Albert Square is the
street where EastEnders is set, and Ramsey Street is where Neighbours is set.

5. In British Soap Operas the characters are usually normal, working class people that the
audience can relate to. They often reflect the target audience. For example,
Hollyoaks is made up of a cast mostly of teenagers of young adults as this is their
target audience.

Body How an actor uses their
Language body to communicate
meaning. For example,
crossing your arms could
mean you are fed up.
Posture The position an actor holds
their body when sitting or
standing. For example, an
upright posture.
Gait The way an actor walks.
Facial A form of non-verbal

Expressions

communication that
expresses the way you are
feeling, using the face.

Tone

The way you say something
to communicate your
emotions. (e.g., angry,

worried, shocked tone of
voice).

Pace

The speed of what you say.

Pause

Moments of pause can
create tension or show what
you are thinking.

Accent

Use of an accent tells the
audience where your
character is from.

Gestures A movement of part of the
body, especially a hand or
the head, to express an idea
of meaning.
Stance The way you position

yourself when standing to

communicate your role. An
elderly person would have a
different stance to a child!

Pitch

How high or low your voice
is.

Emphasis

Changing the way, a word or

part of a sentence is said, to

emphasise it. (Make it stand
out).




English

You can make your own questions. This
process takes a lot of time, but if you
create a study group you can each create
a few questions and trade. However it is
important that you write what Key facts
or knowledge you expect to see in any
answer.









Literacy

Make sure you are regularly testing your
knowledge using the resources provided
by the school on platforms such as Sparx,
Educake and Linguascope. You will have
been issued with user names and
passwords to access your accounts.















Geography

Organise your ideas into a concept map, like
the one below that summarises 'cells'. In a
concept map, you take the main ideas and link
them together with phrases that explain the
relationship between the concepts. But, always
try to make the concept map from memory
first! Then check it with the knowledge
organiser



Tropical Rainforests Knowledge Organiser

What is a rainforest?

Tropical rainforests are one type of biome. Biomes are
geographical regions characterised by their climate and
by the plants and animals that live there. Rainforests
have a climate that is hot and wet all year round,
receiving 2000mm of rain per year and temperate
range of 27 to 32°C. The graph below shows the
average climate of Manaus, Brazil. This climate
promotes so much growth, rainforests are home to
more plant and animal species than any other biome.

Rainfall (mm)
Temperature (°C)

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
Month

. Rainfall . Temperature

Where are rainforests found?

Rainforests are located around the Equator between
the Tropics of Cancer and Capricorn. They are found
in Central and South America, Central and West
Africa, Southeast Asia, and the Pacific Islands. The
countries with the largest areas of rainforest are
Brazil, Democratic Republic of Congo, and Indonesia.
Some other countries with large areas of rainforest
are Peru, Colombia, Central African Repubilic,
Cameroon, Laos, and Malaysia.

Rainforest food webs

Rainforests are home to high biodiversity. This means
there is a large variety of different species of plants and
animals living in the same space. These species are
divided into five categories based on their role in the
food web: producers like trees and shrubs, primary,
secondary, and tertiary consumers (plants and animals
that get protein from consuming the producers or other
consumers), and decomposers like fungi.

Tertiary B
cioll

r

Grasshoppers

Bl Monkeys
t 11 1t
e
Variation =ELEDE]

of seeds

Plant Adaptations

Only 2% of sunlight reaches the forest floor & rainforest soils are generally poor
because heavy rainfall means nutrients are quickly leached from the soil.

Lianas - these are woody vines that have roots in the ground but climb up the trees
to reach the sunlight. Their leaves and flowers grow in the canopy

Drip tips - plants have leaves with pointy tips. This allows water to run off the leaves
quickly without damaging or breaking them.

Buttress roots - large roots have ridges which create a large surface area that help
to support large trees.

Epiphytes - these are plants which live on the branches of trees high up in the
canopy. They get their nutrients from the air and water, not from the soil.
Carnivorous plants are meat-eating plants that attract insects using smelly nectar
and then trap them.

Fan palms have large, fan-shaped leaves that are good for catching sunshine and
water. The leaves are segmented, so excess water can drain away.

Animal adaptations

Only a small percentage of species live on the forest floor, the majority live in the
canopy. This may be to avoid predators or to be closer to their prey/food group.
Some common adaptations are below:

Camouflage — animals use colour and shape to hide among their surroundings
Mimicry — animals appear and behave like another animal to fool predators
Reduced choice of food — to avoid competition for resources, some animals have
developed an adaptation wherein they reduce the choice of food they consume
Bright colours and patterns — colours and patterns signal to predators to beware of
poisoning etc; some harmless animals use the same colours and patterns as
protection by tricking their predators

Reduced body size — the tropical rainforest favours smaller animals because it’s is
so dense that it makes large movements hard to execute

Nocturnality — animals sleep during the day and hunt at night when it may be safer
Changing habitats — many animals take advantage of the huge trees in a rainforest
and make habitats where they may not normally, like in the trees of the canopy




Tropical Rainforests Knowledge Organiser

Rainforest layers People in the rainforest

Rainforests have four main layers — the emergent layer, the The Amazon Rainforest is home to most the world’s current uncontacted

canopy, the under canopy, and the forest floor or shrub layer. | peoples, often living in tribes like the Awa. These tribes hunt, gather, and

Emergent layer — contains a few trees that reach above the farm to feed themselves. They have been broken up and pushed further

main canopy to heights of 40-50m and species like eagles, into the rainforest by different groups of settlers in their history, including

butterflies, bats, and some small monkeys European explorers in the 16™-17" centuries; the rubber industry in the

Canopy — most plant species exist in the canopy, where they early 20" century; and illegal loggers, drug traffickers, and cocoa farmers

form a dense cover of leaves, soaking up as much sunlight as more recently. Some Awa people have moved into villages, but some still live in nomadic tribes the

they can; the canopy houses the most animal species jungle. The current policy in Brazil and Peru is to let uncontacted peoples choose if, when, and how they
Under canopy — mostly open layer below the canopy where would like to make contact and join the outside world. These encounters can be dangerous but could also
plants that have adapted to low light grow; the under canopy | be beneficial to Indigenous peoples.

only receives 2-15% of the sunlight that the canopy gets
Shrub layer — only receives 2% of the light the canopy gets, so
plants grow slowly and when trees or other organic materials
fall they are decomposed quickly and plants race to grow and

Possible benefits

- Providing medical aid

- Providing tools and clothing to help people thrive
- Learning about sustainability and biodiversity from
Indigenous peoples

Possible risks

- Violent conflict

- Spreading disease

- Forcing assimilation and wiping out
Indigenous ways of life

fill any gaps left in the light

Why are rainforests important?

There are many reasons why rainforests
are a hugely important biome for our
planet, including:

- Providing habitats for plants and
animals (rainforests support 30 million
plant and animal species)

- Ancestral lands of Indigenous peoples

- Climate regulation due to recycling of
water

- Preventing soil erosion as trees bind
the soil together and provide other plants
with nutrients when they decompose

- Providing many natural medicines (25%
of current medicines originated in
rainforest plants!)

- Providing an abundance of food,
including many that we see every day like
coffee, chocolate, rice, and spices

Threats to rainforests

- Cattle ranching — every year more rainforests around
the world are cut down to make room for pastures;
pastures take up 80% of deforested land in the Amazon
- Logging — much of the logging that happens in the
Amazon is illegal, since it is so hard to police remote
areas of the jungle

- Agriculture — cash crops such as soya and palm oil are
grown in deforested areas

- Mining — mining for gold and other metals can result in
soil and water contamination with dangerous chemicals
like mercury getting into the ecosystem

- Hydroelectric power — building dams often results in
major flooding which damages the ecosystem and
people’s communities, and people are often not
compensated

- Road building — road building destroys habitats and
increases access to the forest for loggers and hunters

- Poaching — 9.6 to 23.5 million animals are hunted every
year in the Brazilian Amazon alone, endangering the
species and changing the area’s food webs

How can we protect rainforests?

- Logging and replanting — selective logging of mature trees
ensures that the rainforest canopy is preserved. This method
allows the forest to recover because the younger trees gain more
space and sunlight to grow. Planned and controlled logging
ensures that for every tree logged another is planted.

- Education — it is important that local people, businesses and
politicians understand the true value of the tropical rainforest.
Once they understand the value of biodiversity, particularly in
terms of tourism, they will be more likely to want to protect it
from deforestation.

- Ecotourism — this encourages sustainable tourism that creates
jobs for local people whilst ensuring that the money generated is
used to protect and conserve the tropical rainforest for future
generations to enjoy.

- International agreements — agreements to protect tropical
rainforests have been made between different countries
through debt-for-nature swaps. This is when a country which is
owed money by another country cancels part of the debt if an
agreement is made by the debtor country to ensure the
conservation of its tropical rainforests.




History

You can make your own questions. This process
takes a lot of time, but if you create a study group
you can each create a few questions and trade.
However it is important that you write what Key
facts or knowledge you expect to see in any
answer.









Maths

You can make your own questions. This
process takes a lot of time, but if you
create a study group you can each create
a few questions and trade. However it is
important that you write what Key facts
or knowledge you expect to see in any
answer.
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| Simple. Inequaiities Form and solve. inequailtties Qlaebraic constructs |

Expression
0 sentence with a minmum of two numbers and|
one. maths operation

! i
< less than < Less than or 1 Two more than treble my
equal to Il rumber s greater than |

> More than > More. than or I
th - th 1] Find the possible range. of vales

Il v v2e37 )
The biggest the valve can be is 18 1] 3x3+d=ll 0x3+d-32 g areaof arectonge O =bxh

______________ e e e o g 4

©

1L

1L

I I

I I
: | : |
| equal to I : | Equation :
: x <10 Il om s % 0 — | |: 0 statement that two things are equal I
Say this out loud Il I I
| \_"x s a vale less than (0° Il 3¢ >l L Tem I
I 0 1 SO'V@ (| 0 single number or variable |

>X

: Qioltgm 4 (0 Say this out loud ” X 4= 34— ] H ldentity :
| represent the same 10 more than the vale 1 (>3 11 On equation where both sides have variables |
| valves Il Check I : that cause the same answer includes = I
| x+a<a0 I I Formula '
I e+ 2 bss th o 20 1 This would suggest any value bigaer than 3 satisfies the | | |
| Xmimlge s than or equatto statement ||Q rule written with all mathematical symbols I
| ¥ I



VEAR € - ALGEBRAIC TECHNIQUES. .

@nhisto_maths

I

I
| todo? 1
| Bythe end of this unit you should be able to:
I« Gererdte a sequence from term to term I
| or position to term rules :
: *  Recogpise artthmetic sequences and find I
I the nth term |
| Recognise geometric sequences and I
| other sequences that arise |
I | | number

P — — — — — — — — — — — — — — — — — — — — — —

| Linear and Non Linear Sequerces
| Linear Sequerces — increase by addtion or subtraction and the same. amount each time
| Non-inear Sequences — do not increase by a constant amount — quadratic, geometric
| and Fibonacci
Do not plot as straight ines when modeled graphicaly
The dfferences between terms can be found by addition, subtraction, muttiplcation or
dvision

Fibonacei Sequence — look out for this tupe of sequence

ol I 2 358

Sequence: items or numbers put in a pre-decided order

Term: a single number or variable

| Posttion: the place something is located

Linear: the dfference between terms increases or decreases (+ or -
Non-inear: the difference between terms increases or decreases in different amounts, or by x or +
Difference: the. gap between two terms
Orithmetic: a sequence where the difference between the terms is constant

Geometric: a sequence where each term is found by muttiplying the previous ore by a fixed non zero

Seq,uences

|
|
|
|
|
) by a constant valve each time :
|
|
|
|
|

equence in a table and graphicaly
Posttion: the place in the. sequence
™S 3
] The termin
| | | position 3
has 7 squares’
3 5

I

I

I

I

I

I

I

7 I

Term: the number or varible f |
(the rumber of squares in each image) I
I

I

I

I

I

I

I

I

"N na toble
Each term is the sum of the previous two terms / LI\_
| - 4 -
T ST —_———————————— 1 3T
SCQU@YY}CS from alo;ebmlc Ules Ths s susstiion Because the terms incredse by the same addition each time this
3n+7 3n2 +7 is Inear — ds seen in the graph
—_—— e e —— —
/ AN T T T T T T T T T T T T e e -
; Msconceptions and comparisons
This wil be. Inear - note the single This is not Inear as there is a Comp |€X a|0ﬂb(al0 fUle,S I
power of n The values increase at a powier for n
constant rate 2!’\'2 (Qn)l

I
I
I
I
I
I
I
Substitute the number of the term you are looking for
: Jn - 5 in place of
€9
: Mterm=2()-5--3
I
I
I
I
I
I
I
I
l

Mterm=2(2)—5=-|
100" term = 2 (100)— 5 = 195

Checking for a term in a sequence. Fom on equation
ks 201in the sequence 3n — 47

~ 3n-4-20I

o Term to check

Olgebraic ruIe
Soling this wil find the position of the term in the sequence
ONLY an integer solution can be in the sequence
Finding the alaebraic rule

Thssthed 4 8 I;z |6 ;20...“

times table
4n R

7 ” |5 M 22 <+— (differerce —but s 3 more than
the original sequerce

4n+3

—

|
|
|
|
|
|
| This has the same constant
|
|
|
|
|

2 times whatever n squared is A times n then square the answer

|
|
|
|
|
|
|
: Mterm=2x K=2
|
|
|
|
|
|
|

€9
“ Mterm=(2x | =
At term
Atterm = Ax 2= §
h oy = -
100t term = 2 x100%= 2000 100" term = (2 x100 = 40000
€9
Mterm=1([+5) - You don't need to
n (n * ) term=2(2+5) - expond the
100" term = 100 (100 + 5) = 10500] ~ expression

I
I
I
I
I
I
I
-@AxaP- 16 :
I
I
I
I
I
I
I

|

|

|

|

|

This is the comparison |

This is the constant (dfference) between the I
dfference between the terms |
|

|

|

|

in the sequence

origihal and new sequence
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Indices

______________ M T ST
| What do [needto be able || Feuwords
I to do? | : Base: The number that gets muttipled by a power
: By the end of this unit you shoukd be abk to : | Power: The exponent — or the number that tells you how many times to use the number in multipleation
| Od/ Subtract expressons vith ndces | | Exponent: The power — or the rumber that tell you how many times to use the rumber in multiplcation
|« Mutiply expressions with indices | | Indices: The power or the exponent
|« Duide expressions with indices | 1 Coefficient: The number vsed to muttiply a variable
I« Finow the addtion law for indces | : Simpify: To reduce a power 1o its lowest term
: * Hnow the subtraction law for indices : I Produet: Mutiply
e T S S
T ' e T T T T T T T T T T T T T
| (ddttion/ Subtraction with indices I | Multiply expressions with indices
| Coefficent Pover d
| \‘5X2+4X4/ Each square I I 4b x 3a Htxat
| XK — represe:tgzﬂand I: =4xbx3xa =A"ytyxdxt
each cube — =
: Term  Term eproserts ¢ : | = 4x3xbxa =D« qu txt
I Expression | : = Rab = 45t
I Only simiar terms can be simplfied | |
: If they have different powers, they I
| are Wnlke terms : | bt x 3p2
| || =2xbxbxbxbx3xbxb fhere e clen
I | =24 3xbxbxbxbxbxb misconceptions with this
| O 0 ] I I = ; calculation but bredk down
[ o4+ x—p | L — > 74 | : = ob the. powers
: o Uo .
I T
| | 1 Oddition/ Subtraction laws for indices
:5x2+ Oox*— 3xd + x* — 25@@%—»&% Xt :
I
| FaaD | 3y 34 37
I I 1=(Bx3x3x3x3)x(3x3)
pylepteylepiuylptuylnpiuylupiuyiuptuyiupinyipiupluptupiuptupiupiuptugll ' !
| DIVIde QXPI'CSSiOY\S Wlth V\dlC@S The base number is all the same so the terms
] can be. simplfied
AXAXAX D .
i_z ﬁ 1A — ? Ocktion law for indices
AXIXAXD
a m X G n= a mt+n
2
5 a® b Ixaxaxaxpih LT
3p*

bab@—’.5x5xaxbxbxbxbxbxb

Cross carceling factors shows cancels the expression

23 al This expression cannot be. divided
J@_ (canceled down) because there are
5db no common factors or similar terms

Pz — 33

3x3 30 |

Subtraction law for indices

am+an=am'ﬂ

I
I
I
I
I
|
I
I
I
I
I
| 3x3x5xBxB _, 35 _, 3°
I
I
I
I
|
I
I
I
I
|



YEAR & - DEVELOPING NUMBER.
Fractions & Percentaoes

@nhisto_maths

______________ N
| I
| What do Ireed to be able || Peurords
I to do? | Percent: parts per 100 —written using the / symbol
| ——— | | Decimal a number in our base 10 number sustem Numbers to the right of the decimal place are caled decimas
| By the end of this unit you shouid be able to: | | Fraction: a fraction represents how many parts of a whole value you have
| = Convert between FOP ks thanand | | Equivalent: of equal vae
| more than 100 | : Reduce: to make smaler in vale
: * Increase or decrease using multipliers | i Growth: to incredse/ to grow
| Express an amount as a percentage I | Integer: whole number, can be positive, negative or zero
* Find percentage change | .
I |l Invest: use money with the goal of it increasing in valve. over time. (Usualy in a bank)
Lo o o
: Convert EDP o ': Fraction/ Percentage of amount o
70 out of 100 I
: & T::;ilzo —> squares —» 3 P:Ug((ﬂ)ridihs I : Fnd3of £60 £ £R £R R £l
. 70 "hondreaths’ 5
| 70 100 g I £36
| Using a - 7 tenths I Remember
07 Remember
| cakulator Be careful of recurring decimals 5 0/ of £60 = £6 3.00/-06
| m eg 1 -03333333 | || 570/ 50/ of £60- £30 5
I 5 —> | SZD | Convert to a decimal 3 - (;'3 I 607 of £60 = £36 607 of £60
I =06x 60
This wil give you the answer \ x 100 converts The, dot dbove the 3 I = £36
| in the simplest form to a percentage I
| L convert EDP < and > 1007 |I Percentage decrease: Mutipiers Percentaoﬂ increase: Multipliers
| | 007 || < 1007 _ A7
| 100 hundredths 404“{“5&“ :| < 77 > I — — —
entns
- o ) ) -
' «—> . | :
%’—I
: — : : 427 Decrease by 587 : : Increase by 127
A, 14 terths I
|| 1007+407 40/ 11007 - 587 =42/ Mitpler 111007+ 127 = 1127 Multipler
| 1+040 1 «— Il “ More than |
I = 140 1 100 —056=042 Lessthan || 100+012= 112 ore. than
| || |
gl byl iy ey eyl ey ey gy ey by gy gy gy ey
: Express as a 7 - Non-cakulator Percent — per hundred || Express as a 7 - Cakculator
[
: @ ® @9 | 7percieny 0aveorange | Ths means that 70 per eve;goloo 207 11
are orange ) /
Y %’ L 0 I - = 13 433333...7
| @ 0 ” 3_0-—>|:,—>50—>x|oo—>45/
I 27 per every 50 shaded | 94 per every 100 shaded 0 —
I Al 5. 547 I This the same. ds
I 50 100 1 Can't use equivalence 13-30
| I easly to find “per Decimal percentages
| | Denomnator 100 || Equdlent fractions | I hundred’ are stil a percentage
e e P e
l- __________________________________ O —————
| Percentage chanae LI" Choose appropriate me
I I bought a house for £180,000, | I peroprat thOd
| [bought a phone for £200 later sold it for £216,000 (I o
I O year later sold t for £125 I
I 1007 I The language. and wording of
100/ i . \ I the question is the key
I f Oll valves of change [ £180000 |
| |' £200 |A/ compare to the [ [ Il
| TG R [e— ORGINOL valve — I
| Percentace loss - /Per'centa@e profit | Have. you represented the question in ai
L0 - Ditference invale . 100 36000 I bar mocel?
: 0 00 =375/ Orignal vake ] Money made (profit vabe) 180000 «100-207 [ Can you vse a calculator?
- e -



VEAR 8 - DEVELOPING
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'Whatdolneedtobeable

NUMBER, ..
Standard Form

I to do?

By the end of this unit you should be. able to:
Wiite numbers in standard form and as
ordinary numbers

Order numbers in standard form

Odd/ Subtract with standard from
Muttiply/ Dwide with standard form

Standard (index) Form: O system of writing very big or very small numbers

Commutative: an operation is commutative if changing the order does not change the resutt

Base: The number that gets muttipled by a power

Power: The. exporent — or the number that tels you how many times to use the number in muttiplcation
Exponent: The power — or the number that tels you how many times to use the number in muttiplcation
Indices: The. power or the exponent

Negative: O valve. below zero

Use a caculator with standard form

amxan=am+n alﬂ+aﬂ=alﬂ‘n

- I .

: Posttive powers of 10 ' 1 Standard form with numbers > | || Neagtive powers of 10 |

R I I

I bilion — 1 000 000 000 | Ony integer |
| e | Ony number 10 1 1 1 1
| 0% 0x 0x 10x 0x10x 0x10x 10x10- 10° | between tand A xlO"‘/ :: 0.001 * = 06 006 :
: Ocdition e for ndoes 0% 07 = 107 :: s thn 0 :, kol weo [0 [0 |
0 ) . \ I
| Subtraction ruke for indices 107 - 10° = 107 :: Exarmpe Non-exampk. || lx 1031 /f PO I
\  ______ a] 3ax 0 (080 N I
r——— _bzt— - 6 - |_ _____ I| -32x 10x 0% 10x 10 e || &zg;ab:(tg Neggitive powers do not |
: - OW¢
| Numbers between 0 and Il - 32000 5.3y (00 :| s - | indcate neggtive sobtions |
I 0.054 1 o 1 1 1 Il— ————————————— I_ ________________ |
: 10 100 I | P e
|-54x10% "0 0 |0 | o | Order numbers n stondard fom | o | 0 | o e 0 |6 | o | o]
| 1l
| 0 e A 4 -2 2 0 -l Look at the power first
I :: 6.4x 10 A4x 10 3.3x 10 L3x 10 will the. number be = > or < than | :
| O neggtive power does not mean a negative Il 0.064 240 | 0.13 Use a place vale grid to compare the |
I answer — it means a number closer to O numbers for ordering
|

_______________ _||_______________________________.l

r------------------------—"-"=-"—-—""—"""""=""="—""7"">""=—"—"—"7"—7""—7""—"—"™ |
; Tip: Convert into ordinary numbers first and back to
: Meﬂta| CabU|athHS | Oddltlon and SUbUOCtIOn standard from ot the end I
| 6.4 x 10%x1000 Not in Standrd Form @ 1+ H :
- 6.4y 102x 103 =24 x 10° Notin Standard Form|| Method | 6 X |05 + 8 X |05 Method 2 |
| 6.4 ¢ (07 Use addtion for indices rue 1 ﬁ ) |
=04y — -6 v 8 =6+ 8x10°
| = " 24x 00107 e ationtr 10 e |
| -24x 16 ndeesne | Tris & ol the = e I
! A 107 - 4 Divide the values I L final answer : lﬁ}x K:oxs o |
I -2 4)x 103 Remember the layout for standard form || More. robust method ZLax o I
| : | I Less room for misconceptions |
1-05x10 Oy rumber Oy nteger | | Easier to do cakculations with Only works if the powers are |
n negative indces the same
I between | and x 10 |I h |
| s than 10 || Can vse for dffferent powers I
L = o I_ _______________________ d
r---———"""--"""-"—-"—-"—"-"-""-"-"-"-"\],;.;. -~ -~ ;7;7, - - ------TTmTT T |
Use a cakulator to work out ths

: WKIPMUOH and dwision For muttipleation and dwision you can ook at the |: USIM) a cakulator 14x 107 x 39x10° question to a sultable degyee of |

5% 100 Dusion questions values for B and the powers of 10 as two | aeeurdcy |
: X g A& con ok lke ths separate caculations I: Input 14 and press Then press 5 (for the. povier) :

0.3x 10 11 press 3)
| / This gves you the soltion
| I| nput 39 and press Then press 3 (for the power) s :
I (9 00) = 0 0°) Il P /o
I Revistt addition and subtraction laws for indces — || ' ) o
| ¥ 107~ 102 they are needed for the cakculations Il Clck cabur for video ttoria |
| || To put into standard form and a suitable. degree of accuracy |
: -Hyx 104 Oddtion b For cces Sudroeton w for indces || Press and then press 7 for sci mode ‘ Orswer 55 x 108 ‘ :
l |

| Choose a degree of accuracy so in most cases press 2



https://www.bing.com/videos/search?q=using+a+casio+calculator+and+standard+form&docid=608044502750464883&mid=79B649FE748118FB662E79B649FE748118FB662E&view=detail&FORM=VIRE

YEAR & — DEVELOPING NUMBER. ..
Number Sense

lWEa_t dlreedtobe b 1| Pewors |
| to do?

: Bg the end of this unit you should be able to:
| Round numbers to powers of 10 and | sf
| ¢ Round rumbers to any dp

| * Estimate soltions
I
I
I

Significant: Place. vale of importance

Round: Making a number simpler but keeping its vale close. to what it was
Decimal: Place. holders after the decimal point

Overestimate: Rounding up — gives a solution higher than the actual value
Underestimate: Rounding down — gives a solution lower than the actual valve
| Metric: O system of measurement

| Balarce: The amount of morey in a bark account

* Cdkulate vsing order of operations
* Cdeulate with money, units of

L meagsurement and time 10 | Depost: Putting money into a bank account
_______________________________________________ A
i i~ 1
: Round to powers of 10 and |sia figure @  the rumber s rafivy betveen ve ‘o up° 37010 | sigificant figore 1s 400

37 to Isignificant figure s 40

I
I
I
5495 to the nearest 1000 5475 10 the nearest 100 5475 1o the nearest 10 37 to Isignficant figure is 4 I
I
I
I

|
|

: . - ; r . 037 to |significant figure 5 04
|
| Gt G0 5400 1o o 1 000037 to | signficant e is 00004
|
|

| Round to the first non-zero number

r—m——-------- -8 -m-H V :'--— Y —_ e —_- —_W —_ _W:- _ - b |
| Round to decimal places  7.4¢192 < Foous on the rmbers :: Estimate the calculation Round to | significant figure to estimate |
I “To ldp” — to one number after the decimal afterthe deoml port I I
1 2dp” —to two rumbers after the decima 1 42+67 =4+7 =l This 15 an overestimate because the 6.7 was rounded up more :
| 240192 to 1dp) -k the choser to 24 or 25 2.4 6192 T:: shows |: \The equal sign changes to show t i an estimation I
: 22} * zbg :{urtnobzr 5\3 : | Al4x 3.1 ~20x3 =060 Thsisan underestimate because both valves were rounded down:
!
: 2.46192 (to 1adp) - s ths choser to 246 or 247 2. 46! (2 Ths shows the | ft is good to check al cakulations with an estimate in dll aspects of maths — it :
| - ; . V\number s Closer || helps you idertify calculation errors |
O to 246 |
| (340 47 ! !
e o — — — — — — — — — — — — — — — — — — — — — I— ————————————————————————— —r
| | Order of operations o |1 Cakculations with money :
| Bf mkets Operations in brackets are caculated first | : Debft - You have £0 or more in an account Morey calcuiations are to :
: Othef operations eg powers, roots, :I Cf dt 2dp |
. . — - You have less than £0 in an account
| Muttipication/ Division i '
| They are carried out n the order from kft torigtt nthe || I
| 4uestion 1 Using a calculator — ensure you dre working in the :
| iti i 1 correct units
Odd[thﬂ/ SUbthtlon 1 £130+50p = 130 + 50 (i perce) £1- 100 I
They are carried out in the order from kft to right in the p |
| qestion 1 =130 + 050 (in pouinds) |
S ------ - - - - - - - _______Z
[Units are important: Gsefuconvesors 10, a0 iy T
P : mm cm m km 9 —’k@ ml — |
I +— -— I
I_ x 10 x 100 x 1000 x 1000 % 1000 l
—_—————————————— I'_._____________________________:::__
| Metric measures of |€n@th Time and the calendar = (2 Months = one year = 52 weeks Lday — 24 hours
| Bib = 1000 x meter Centi - — x meter 31 days — Jan, March, May, July M - 60 minvtes
| 100 Oug, Oct, Dec [ minute — 60 seconds

30 days — Opril, Jure, Sept, Nov

| Year — thy t of time it
e amount of time 28 das — Feb (29 eap year)

| Mili - Ly meter

I
I
I
I
I
Use a number line for :
I
I
I
I

I
I
I
I
1000 | takes Earth to go around the
|_ ______________ 1l sun 365 (and a quarter) days Tweek — 7 das
| Leap Year — 366 das (every Monday, Tuesday, Wednesday, time. calculations!
| UHItS Of WCIth/ (‘,&PO(‘,ltu [ I 4 years) Thursday, Friday, Saturday, Sunday
I | IOm\og e, Clock
| Weight = ¢ kg t | | 2-hour clock Digital Clock (24-hour times) Y
| Capacity vobme of lqud) = ml, L I I * Use.am (moming) and pm- (aftemoon) o 0-11 (morning hours)
| ]I | * Onlyuse hour tmes up to 1 o 12-23 (afternoon hour%
I e o o o —— — — — — — — — — ] —— — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —  —



Numeracy

Make sure you are regularly testing your
knowledge using the resources provided
by the school on platforms such as Spary,
Educake and Linguascope. You will have
been issued with user names and
passwords to access your accounts.

































MFL - French

Create a flash card with all the key facts you
want to learn (this can be drawn in your
book). On the next page try writing down as
many facts or as much of the knowledge as
you can. If you find you are getting certain
facts wrong then these are where you need
to focus and relearn.
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Objective: To discuss free-time and hobbies

Threshold Concepts:

+ The negative is formed in French in several ways, including with the structure “ne...pas”, which is sandwiched around the conjugated verb and is translated as "do not".
* The pronoun “"on” is commonly used in French to replace “nous”, particularly in conversation and can be translated as "we" or “you".

+ There are no simple or progressive past tenses in French. The perfect tense is used to communicate completed actions in the past. It comprises of three parts - subject, auxiliary

verb and past participle

On TV- Essential Vocabulary

je regarde- T watch

les documentaires- documentaires
les émissions de sport- sports shows
les émissions de télé-réalité- reality
tv shows

les infos- the news

les jeux télévisés- games shows

les séries- series

les séries policiéres- police series

les séries américaines- american
series

les dessins animés- cartoons

Weather & Activities - Essential

Vocabulary
Quand- When

il fait beau- it's nice

il fait froid-it's cold

il fait chaud- it's hot

il pleut- it's raining

on fait - we do

du VTT/ du skate/ du bowling

on va - we go

au café/ au cinema
on joue- we play
au foot/ au basket

oh surfe sur Internet-

we surf the internet

Films- Essential Vocabulary

J'aime/J'adore/ Je n'aime pas/ Je
déteste...

I like/I love/I don't like/I hate
les comédies- comedies
les films d'action- action films

les films d'arts maritaux- martial
art films

les films fantastiques- fantasy
films

les films d'horreur- horror films

les films de science-fiction- sci-fi
films

les westerns- westerns

-ER verbs

To put -er verbs in the present tense,

we remove the -er and add the correct
I ending:

Je -e, Tu-es,

Il/elle/On-e

Nous- ons

Vous- ez
I Ils/elles- ent

I Negatives:
In French we form the negative (do I
not/not) using 2 parts. These 2 parts
must be sandwiched around the verb.

I ne.... Pas = do not/not
ne... jamais = never -

I Use the QR code fo practice # ;
using the negative on

I Languages Online:

Reading- Essential Vocabulary
je lis- T am reading / I read...
une BD- a comic book

un livre sur les animaux- a book
about animals

un livre d'épouvante- a horror story

un magazine sur les célébrités-
celebrity magazines

un roman fantastique- a fantasy
novel

un roman policier- a thriller

Sur Internet- Essential Vocabulary
J'envoie des e-mails- I send emails

Je fais beaucoup de choses- I do a lot of
things

Je fais mes recherches pour mes devoirs-
I do research for my homework

Je fais des achats- I buy things

Je fais des quiz- I do quizzes

Je joue a des jeux en ligne- I play games
online

L = = =

I I Articles

| Faire- to do

je fais= I do

tu fais= you do

il/elle/on fait= he/she/we do
nous faisons= we do

II vous faites- you do
" ils/elles fonts= they do

Je lis des blogs- I read blogs
Je trouve ¢a - I find it
chouette/pratique/stupide/barbant
great/practical/stupid/boring

Hier Soir- Essential Vocabulary

J'ai discuté - I discussed

J'ai écouté la radio-TI listened to the radio
J'ai envoyé des SMS- I sent text messages
J'ai joué a des jeux en ligne- I payed game
sonline

J'ai posté des photos- I posted photos

J'ai regardé la tele/lldes clips videos- T
watched TV/video clips

J'ai surfé sur Internet- I surfed the net

I The Past/Perfect tense

Use BBC bitesize and Languages Online to I
I revise how to talk in the Past Tense:

_—_—_—_—_J



https://lacquerorleaveher.blogspot.com/2013/08/notd-parisian-flourish.html
https://creativecommons.org/licenses/by-nc-nd/3.0/

Music

Make sure you are regularly testing your
knowledge using the resources provided
by the school on platforms such as Sparx,
Educake and Linguascope. You will have
been issued with user names and
passwords to access your accounts.


https://my.educake.co.uk/student-login
https://www.sparxmaths.uk/
https://www.linguascope.com/

A. Theme and Variations Key Words B. Augmentation and Diminution — Note Values and Duration

MELODY — A tune or succession of notes, varying in pitch, that have an organised and AUGMENTATION - the SEMIBREVE = 4 beats
recognizable shape. Often called the main TUNE or THEME of a piece of music or song and | process of DOUBLING
easily remembered. the note values

. . . . MINIM = 2 beats
VARIATION — Where a THEME is altered or changed musically, while retaining some of the | (DURATION) of a theme

primary elements, notes and structure of the original. VARIATION FORM: as a means of variation.

CROTCHET =1 beat
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variation.

C. Variation Techniques
PITCH — TEMPO | DYNAMICS TEXTURE- Change the amount of | TIMBRE ARTICULATION PEDAL — A long (often DRONE - A MELODIC OSTINATO CANON/ROUND | GROUND BASS
Change the - —Change sound we hear — play as a SOLO, AND — Change the very long!) note in the long or series DECORATION — —Adding a - A song or piece | —A repeated
highness or Change | thevolume | add an ACCOMPANIMENT or SONORITY- | way the theme bass line of the music of repeated Adding extra notes repeated of music in musical pattern
lowness of the of the CHORDS, add a COUNTER- Change the | is played — over which other parts, (often long) or embellishments musical which different in the bass part
the theme - speed theme — MELODY (an ‘extra’ melody that SOUND of smoothly including the theme ora | notes using to the theme such pattern performers sing upon which
play the of the play it is played or sung at the same the theme (LEGATO - variation of the theme the TONIC as trills, turns, (rhythmic or perform the chords, and
same notes, theme louder or time as the main melody, often —play it on shown by a can be played. Also and mordents or melodic) | same THEME melodies can be
but at — play softer. higher in pitch and sometimes a different SLUR) or short, called a PEDAL NOTE or DOMINANT (ORNAMENTS) or to the main | starting one performed and
different it called a DESCANT). instrument. | detached and PEDAL POINT and often notes PASSING NOTES theme as a after the other. varied “over the
pitches e.g. faster spiky the TONIC note (but can | together (a (extra notes form of top” of.
in different or (STACCATO — be the DOMINANT or FIFTH). between the main variation. .
OCTAVES. slower. shown by a other notes). melody notes). *
dot).

D. Tonality — Major and Minor
TONALITY refers to whether a THEME or MELODY is in a MAJOR or MINOR key. Changing the tonality from major
to minor or minor to major is one way of providing a variation on the theme of melody. Major and minor scales

follow a certain pattern of tones and semitones:

MAIJOR SCALE MINOR SCALE

E. Inversion and Retrograde

INVERSION — Changing

the INTERVALS

between the notes of a
theme so that they are
upside down from the
original.

RETROGRADE - A

variation technique

created by arranging

the main theme backwards.
RETROGRADE INVERSION — Arranging the

“inverted” variation of the theme backwards!
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Year 8 PE Spring Knowledge Organiser

During the spring term, students will understand the importance of a warm up, develop
knowledge of good leadership, and learn to perform more advanced skills in a variety of sports.

Explain & Understand

Completing a warm-up is an
important first step for any physical
activity. It consists of:

1. Pulse Raiser —something to
gradually increase the heart rate
and blood flow.

2. Stretching — some dynamic
stretches to increase the elasticity
of the muscles.

3. Sport specific drill - something to
practise the skills needed for the
activity.

Leadership

Learning the skills to be a good leader
is an important part of our PE
curriculum.

Research the skills necessary to be a

good leader, and how you might use

them in PE lessons. Here are a couple
of examples:

 Clear communication skills.

* A good listener.

Advanced skills

Starting to perform more advanced
skills during physical activity is key to
students progressing practically.

Can you think of a skill, and then how
you would make it more advanced?
Here's an example:

« Dribbling in football > dribbling
around a defender in football.

See if you can name 3 more in
different sports you have done so far
at school.
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Year 8 - PSHE - Health and Wellbeing

Key Terms .
PSHE covers a variety of topics that focus Key Skills

developing understanding in four key areas,
personal, social, health and economic.

Body Image How you see yourself when you
look in the mirror or when you
picture yourself in your mind.

« Active listening and
communication
e  Teamwork

Cyberbullying | Any type of bullying that happens Grief and Bereavement e

through a digital medium Bereavement refers to the experience of | Neg;’rla’;‘lp n and self advocacy
Troll Someone who deliberately posts || losing a loved one through their death. Grief :;igseer::a ‘;Iioon and debate

negative or offensive comments is the term for the feelings you experience

online directed at other users after the dga’rh of a loved one or the loss of Cyberbullying
Bereavement | The experience of losing a loved something which you deeply valued.

one through their death. Cyber'bullying and online

Drugs and Alcohol Safety frr'ollmg.ls becoming
Excessive alcohol use can lead to long-term health impacts including weight gain, headaches, and mcr'easmgly common and

sleep disturbance and for some depression. Drugs are substances that change a person’s mental or || often takes place through
physical state. They can affect the way your brain works, how you feel and behave and your . : - :
understanding and your senses. i’oliilgl I:ned'a apps, including
IK10

Threshold Concepts:

That the media and social media can have an impact on how people think about themselves and express themselves, including regarding body image, physical HOW TO prevenT Cyber
ITC5 [and mental health bu”y'ng:

ITC6 |Know what mental and emotional health is and strategies for managing these A' h

[ J
[TC7 |[Know what loss, separation, divorce and bereavement are the strategies for managing the feelings associated with them Ways respeCT OT ers
ITC8|That there are misconceptions, social norms and cultural values relating to drug, alcohol and tobacco use A Th | nk befor'e you Send
ITC9[That there are strategies to manage a range of influences on drug, alcohol and tobacco use, including peers ' .

* Don't retaliate or reply

* Make sure you tell someone




RS

Create a flash card with all the key facts you
want to learn (this can be drawn in your
book). On the next page try writing down as
many facts or as much of the knowledge as
you can. If you find you are getting certain
facts wrong then these are where you need
to focus and relearn.









RSE

Read through your knowledge organiser. Next,
cover it up or put it away and try tho write
down as many of the key facts that you can
remember. Use your knowledge organiser to
check the fact you have written down. Correct
any you may have got wrong.



Year 8 - RSE - Intimate and Sexual Relationships

y Key Skills
Key Terms . .
RSE covers a variety of topics and focuses
Consent Ar;lqgrleemzn;f whlich iihgifn on developing understanding of different « Active listening and
willingly and freely withou . . .. . . .
exploitation, threat or fear, and | | 3SPects of relationships. This includes with communication
by a person who has the capacity | | yourself, friendships, romantic and sexual «  Teamwork
to give their agreement relationships « Presentation and debate

Contraception The methods that are used to Contraceptive
prevent pregnancy (some reduce
the risks of catching an STT too)

Reducing Pregnancy
Way 1: Block the sperm (Barrier method) from reaching the egg. For example, condom.

Authoritarian Someone who demands that Way 2: Disable sperm before they reach the uterus (This method may be combined with the
people obey completely and barrier method). For example, spermicides. 0
refuses to allow them freedom -

, o : 0
fo act as they wish Way 3: Suppress ovulation in women. For example, the pill. g

Love An intense feeling of
deep affection.

Teenage Pregnancy

Threshold Concepts: When a girl aged 13-19 gets pregnant.
However, when people talk about ‘teen
mothers’ they are usually talking about ages

TC7 |That there are different forms of contraception 12-17.
That there are different types of relationships, including those within families, friendships, romantic or intimate
TC8 |relationships Parenﬁng
TC9 |That consent must be freely given, without manipulation or coercion Parenting means being a parent - a caregiver

for a child. There are four main parenting
styles: Authoritarian, Authoritative,
Permissive and Uninvolved




Science

Organise your ideas into a concept map, like
the one below that summarises 'cells'. In a
concept map, you take the main ideas and link
them together with phrases that explain the
relationship between the concepts. But, always
try to make the concept map from memory
first! Then check it with the knowledge
organiser



_____________________________ d
| Threshold Concept | |Keywords o I
I . ’ I | - Electron: astable subatomic partficlewitha
| Electricity is the flow of electrons. || charge of negative electricity, found in all I
- I | afoms andacting as the primary carrier of :
|\ .. . T T T T T T T T electricity in solids.
| Circuit Symbols ” - Electricity: is the presence or flow of I
| I charged particles. |
| - Charge: is a property ofa body.w hi'ch |
| I experiences a force in an electric field. |
I I Charge is measured in coulombs (C). |
I | - current: Current is the rate of flow of |
I I electric charge around a circuit. |
- — - Y
| | National Grid |
I | | The National Griddistributes electricity I
| across the country. The National Grid I
connects power stations to homes,
| I I workplaces and public buildings all around |
!_________________________________! the country through a system of cables and :
| Series and Parallel circuits | | Transformers. |
I I |
I I |
I I I
I I I
I I |
I I |
I | - Z=
| IPractical |
| Inaseries Inaparallel circuit,| | Wiringaplug I
| circurt, I‘rhe the potential | |
| potentia difference across || |
di fference/volt each bulbis the | I
age supplied by same as the I |
the battery is potential difference |
| sharedby the across the battery. | |
| components. e

I
I
I
I
I
I
I
I
I
I lfY—— - - —_ - ——— — 1
I r
I
I
I
I
I
I
I
I



.
| Threshold Concept

I
: Respi ration and photosynthesis are :
chemi cal processes that provide plants |

| and animals with energy.

I
- Respiration: Respiration is the body's way of producing |
energy from the food we eat. It involves the breakdown of
glucose in the presence of oxygen into carbon dioxideand |
water with the release of energygenerating molecules |
called ATP.
- Photosynthesis:is a chemical reaction that takes place |
in the chloroplasts of green plant cells, where light energy |
is used to convert carbon dioxide and water into glucose |
I
I
I
I
I
I

and oxygen.
- Energy: Theability to do work

- Limiting factors: Limiting factors affect the rate of a
reaction. A limiting factor is a condition, that when in
shortage, slows down the rate of a reaction.

- Reaction: A chemical reaction is when

one or more substances change and

produce one or more new chemical

substances.




-
| Threshold Concept | : Keywords
| The Earth's atmosphere is made of | | Atmosphere: An quospher'e is the layers
di fferent gases. | of gases surrounding a planet.
: - Pollutants: A pollutant is a chemical. or
I

biologi cal substance which harms water, air,
or land quality.

I
I
I
I
I
' The Proportion of gases in the | _ I
earths atmosphere I| - Climate chapge: Cllmafe change refers to I
|  long-term shifts in temperatures and :

I

I

I

I

I

I

I

|  weather patterns.

I| - Combustion: Combustion isanother name

I| for burning. In a combustion reaction, fuel

:| is burned and reacts with oxygen fo release
energy.

II - 6Global Warming: Global warming isthe

| 9 q

|I long-term warming of the planet's overall

e — — — — — — — II_ temperature.
' History of the earths _Ir—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_l
atmosphere Greenhouse gases

I

I

The proportion of oxygen increased |

because of photosynthesis by plants and |

algae. |

The proportion of ammonia decreased as it I
reacted with the newly formed oxygen in

the atmosphere to form nitrogen and water I

vapour. I

I

I

I

I

I

I

I

I

|

|

I Greenhouse gases present in the atmosphere
I

|

|

I

|

| The proportion of methane decreased as it
I

I

|

|

I

I

|

include:

|
|
|
|
water vapour |
|
carbon dioxide |

|

|

reacted with the newly formed oxygen to
form carbon dioxide and water.

Fabvesuh swmphns Taivs wwasgbors many

Required practical Testing for gases

r .
| Combustion
| Complete combustion:

I
I
| . |
Propane + oxygen  carbon dioxide + water|

| ¢3Hg + 50, 3€0, + 4H,0 |
Incomplete combustion: |
I

I

I

I

| Propane + oxygen  carbon monoxide +
I carbon + water

CsHg + 30, 2CO + C + 4H,0



: Threshold Concept

| Waves fransfer energy,

|
I_NOT matter.

I
Wave - a disturbance/vibration in matter, which :
transfers the energy through the matter.

Energy - a property of a substance that is stored or |
transferred in order for things to be done. :
I
I
I

Transverse - vibrations are perpendicular (at right
angles) to the direction of energy fransfer.
Longitudinal - vibrations are parallel (same direction)
to the direction of energy fransfer.

|

|

|

| o T e |
I Link o information on I
| the whole topic, |
I consisting of slides, I
| videos, and quizzes :
I . . .

| Trilogy pupils ignore |
| tasks 5,6 & 7. |

to passing from one
medium info a

di fferent medium, of
di fferent densities

v=Axf

Time Period = 1 / frequency
T=1/f

e L L = Wavesina solid
i verse v itudinal |
I I
I I
I I
: — - : | Reflecti |
Vibrations are perpendicular o I
| the direction of energy transfer || Law of reflection
I I | The angle of incidence =
I I the angle of reflection
I I
I I
I I
I I
| Vibrations are parallel fo the ]
. direction of energy transfer _ _ ||
[ =— _i —————————— : Re ion
_ _ | The change in direction
Wave speed = distance / time I and speed of IighT, due
I
I
I
I
I

1
I
|

v=s/t |
I
I
I
I
I

I
I
I
: Wave speed = wavelength x frequency
I
I
I



I Threshold Concept IIKzz_ngr'as ————————————— 1

How do 100 elements make u . . ) )
hi . h . 5 P || Electron - a subatomic particle with a negative
| everythingin the universe: | charge

I
I
________________ I
I_ - Electrostatic attraction - strong attraction |
M between oppositely charged ions |

I Anionis an charged particle. Weak intermolecular forces - force of attraction I
I

I

I

I

|
I
[
I Atoms will lose or gain electrons to get a full Il between atoms, elements and molecules
I
[
I

outer shell. Delocalised electron - free moving electron that
I The metal atom loses electrons to become a isn’ta part of any atom
positive ion lon — a charged particle
The non-metal atom gains electrons to become I F—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_]
a negative ion. Tonic bonds |

lonic bonds are formed between metals|c
nonmetals. Metallose electrons andon- |
metalsgain electrons. The oppositely |
charged ions attract one another forming

ionic bond. I

I

I

I

e e I I
r__.__________.____“ I
| Lonic compounds and properties II |
| | |
| Positive and negative ions I| |
| join togetherto form a :I |
Igiantionic|atﬁce :__:::::::__:::::::::.I

I| JJ Thomson-Suggested

|| theplum pudding model
I| Atoms were a ball of

I| positive charge with

II negative particles
scattered within.

electrostatic attraction
is strong

A4

lonic compounds have a
high M.P

N/

Lots of energy needed
to overcome attraction

|, scattering experiment.

|I Found thatatoms has a
lonic compoundson’tconduct when |} very small, positive
solicdbecause the ions are locked inl| nucleus and the majority
position. When molten or dissolved| thkatoms are empty

ions are free to move and can condyktspace.

I
I
I
I
I
I
I
I
I
II Ernest Rutherford Alpha :
I
I
I
I
I
I
I
I






